This Owner's Manual is provided and hosted by Appliance Factory Parts.

\K Appliance Factory Parts

Experts in BBQ, Humidifier, & Appliance Parts
[J 1-800-955-7075

VIKING VBUI5240G
Owner's Manual

Shop genuine replacement parts for VIKING
VBUI5240G



https://www.appliancefactoryparts.com
https://www.appliancefactoryparts.com
https://www.appliancefactoryparts.com/refrigerators/viking/vbui5240g.html
https://www.appliancefactoryparts.com/refrigerators/viking/vbui5240g.html
https://www.appliancefactoryparts.com/refrigerators/viking/

VBUIS240GSS



DOOR HINGE PAR T S . 2
LH MECHANICAL PART S 3
RH MECHANIC AL PART S . 4
LH GLASS DOOR .. e 5
RH GLASS DOOR . . 6
FIVE BOTTLE SHELVING PART S . . 7
EIGHT BOTTLE SHELVING PART S . . e 8
COIL COVER .. 9
CONDENSER FAN PART S 10
CONDENSER PART S . 11
COMPRES S OR PART S 12
MAIN PC BOARD . 13
Appendix AiPages INAeX ... ... A

Appendix BiParts Index .. ... . B



| VIKING) VBUI5240GSS
CABINET PARTS

Tue May 22 14:36:49 UTC 2018 1



VBUI5240GSS

Item Part No.

Name

Qty

Uom

NOTES

1 059251-000

1 059347-000

N

059250-000

w

059330-000

4 059318-000

5 022922-000
6 059350-000

7 059344-000

8 059319-000

9 022494-000
10 059309-000

11 022446-000
12 022445-000
13 059337-000

14 022403-000
15 059308-000

Communication Harness Cover

Grille, Left hand

#10-32 x 3/8" Phillips Truss Head
Screw

Heyco Snap Bushing

Grille Spacer, Black

#10 x 1" Phillips Pan Head Screw

Door Sensor Harness

Cabinet Bracket

#8-15x 3/8" Phillips Pan Head
Screw

Leg Leveler

Handle End Cap

Strain Relief Bushing
#10- X 1/2" Hex Head Screw

Access Cover

#10 Countersunk Flatwasher

#10-32 x 1" Truss Head Machine
Screw

12

EA

EA

EA

EA

EA

EA
EA

EA

EA

EA
EA

EA
EA
EA

EA
EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:49 UTC 2018




VBUI5240GSS

Tue May 22 14:36:49 UTC 2018



[ VizNG VBUI5240GSS

Item Part No. Name Qty Uom NOTES

16 059349-000 Temp Sensor, Black 1 EA Not available
online / Call for
pricing and
availability

17 059326-000 Thermistor Cover, Black 1 EA Not available
online / Call for
pricing and
availability

18 059355-000 #8 x 1/2" Quadrex Pan Head 2 EA Not available
Screw, Black online / Call for
pricing and
availability

19 059322-000 Light LED, White 2 EA Not available
online / Call for
pricing and
availability

20 059339-000 #4 x 1/2" Flat Phillips Head Screw | 4 EA Not available
online / Call for
pricing and
availability

Tue May 22 14:36:49 UTC 2018 1



[ VIKGNG VBUI5240GSS
DOOR HINGE PARTS

Right Hand
Door Hinging

Left Hand
Door Hinging

Tue May 22 14:36:49 UTC 2018 2



VBUI5240GSS

Item Part No. Name Qty Uom

NOTES

1 059229-000 Articulated Hinge, Right Hand, 1 EA

Upper (includes item 19)

Comments for Part Num. 059229-000

SERVICE@ABSOLUTEREPAIRINC.COM on Feb 12, 2018
This is incorrectly listed as a LH hinge on this lookup. This is actually an upper RH hinge.

2 059230-000 Hinge-Articulated W/Damper 1 EA
Lower-Rh

3 059231-000 Hinge-Articulated Hettich Upper- | 1 EA
Lh

4 059232-000 Articulated Hinge, Left Hand 1 EA
Lower (includes item 19)

5 059233-000 #10-32 x 3/8" Phillips Truss Head | 4 EA
Screw

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:49 UTC 2018




VBUI5240GSS

(ViaNG |

LH MECHANICAL PARTS

Tue May 22 14:36:50 UTC 2018



VBUI5240GSS

Part No.

Name

Qty

Uom

NOTES

N

w

o b

10

11

12

13

059271-000

022380-000

059272-000

022374-000
059273-000

059274-000

059275-000

059276-000

059342-000

059316-000

022883-000

059345-000

059315-000

Power Cord

Power Cord Clamp and 4mm x 20
mm screws

Cable Tie

Air Baffle

Data Acquisition Port

Evaporator Assembly Kit

Foam Evaporator Block Support

Temp Sensor, Gray

Communication Harness left hand

P Clamp

#8-21X1/4 Screw Phillips Pan
Head

Communications Harness Shield

Base Front Trim, Black

EA

EA

EA

EA
EA

EA

EA

EA

EA

EA

EA

EA

EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:50 UTC 2018




[ VIiiNG | VBUI5240GSS
RH MECHANICAL PARTS

Tue May 22 14:36:50 UTC 2018 4



VBUI5240GSS

Item Part No.

Name

Qty

Uom

NOTES

1 059271-000

N

022380-000

w

059272-000

SN

022374-000

(€]

059273-000

6 059274-000

7 059275-000

8 059276-000

9 059343-000

10 059316-000

11 022883-000

12 059315-000

Power Cord

Power Cord Clamp and 4mm x 20

mm Screws

Cable Tie

Air Baffle

Data Acquisition Port

Evaporator Assembly Kit

Foam Evaporator Block Support

Temp Sensor, Gray

Communication Harness right

hand

P Clamp

#8-21X1/4 Screw Phillips Pan
Head

Base Front Trim, Black

EA

EA

EA

EA
EA

EA

EA

EA

EA

EA

EA

EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:50 UTC 2018




[ VIKGNG VBUI5240GSS
LH GLASS DOOR

Tue May 22 14:36:50 UTC 2018 5



VBUI5240GSS

Item Part No.

Name

Qty

Uom

NOTES

1 059306-000

N

059307-000

w

059308-000

N

059309-000

5 059238-000
6 059239-000

7 059240-000

8 059241-000

9 059231-000

10 059232-000

11 059244-000

12 059245-000

13 PS100055
14 028362-000
15 059246-000

Complete Door Assembly

Outer Door Skin

#10-32 x 1" Truss Head Machine
Screw

Handle End Cap

Handle Tube

Handle Insert

Trim Section

Aurora User Interface

Hinge-Articulated Hettich Upper-
Lh

Articulated Hinge, Left Hand
Lower (includes item 19)

Door Skin Mounting Bracket

Door Gasket, Black

Viking Nameplate
3/4" Spacer
3/16" Cable Clamp

EA

EA

EA

EA

EA
EA

EA

EA

EA

EA

EA

EA

EA
EA
EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:50 UTC 2018




VBUI5240GSS

Tue May 22 14:36:50 UTC 2018



=N VBUI5240GSS

Item Part No. Name Qty Uom NOTES

16 059247-000 #8 x 1-1/4" Type AB Phillips Head | 1 EA Not available
Screw online / Call for
pricing and
availability

17 059248-000 Light Switch Actuator 1 EA Not available
online / Call for
pricing and
availability

18 059249-000 #10 x 5/8" Phillips Truss Head 7 EA Not available
Screw online / Call for
pricing and
availability

19 059233-000 #10-32 x 3/8" Phillips Truss Head | 4 EA Not available
Screw online / Call for
pricing and
availability

20 059251-000 Communication Harness Cover 1 EA Not available
online / Call for
pricing and
availability

Tue May 22 14:36:50 UTC 2018 5




[ VIKGNG VBUI5240GSS
RH GLASS DOOR

Tue May 22 14:36:51 UTC 2018 6



VBUI5240GSS

Item Part No.

Name

Qty

Uom

NOTES

1 059234-000

N

059235-000

w

059236-000

SN

059237-000

5 059238-000
6 059239-000

7 059240-000

8 059241-000

9 059229-000

Comments for Part Num. 059229-000

Complete Door Assembly

Outer Door Skin

#10-32 x 1" Truss Head Machine
Screw

Handle End Cap

Handle Tube

Handle Insert

Trim Section

Aurora User Interface

Articulated Hinge, Right Hand,
Upper (includes item 19)

SERVICE@ABSOLUTEREPAIRINC.COM on Feb 12, 2018

This is incorrectly listed as a LH hinge on this lookup. This is actually an upper RH hinge.

10 059230-000

11 059244-000

12 059245-000

13 PS100055

Hinge-Articulated W/Damper

Lower-Rh

Door Skin Mounting Bracket

Door Gasket, Black

Viking Nameplate

1

EA

EA

EA

EA

EA
EA

EA

EA

EA

EA

EA

EA

EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:51 UTC 2018




VBUI5240GSS

€

[ VG

Tue May 22 14:36:51 UTC 2018



=N VBUI5240GSS

Item Part No. Name Qty Uom NOTES

14 028362-000 3/4" Spacer 1 EA

15 059246-000 3/16" Cable Clamp 1 EA Not available
online / Call for
pricing and
availability

16 059247-000 #8 x 1-1/4" Type AB Phillips Head | 1 EA Not available
Screw online / Call for
pricing and
availability

17 059248-000 Light Switch Actuator 1 EA Not available
online / Call for
pricing and
availability

18 059249-000 #10 x 5/8" Phillips Truss Head 7 EA Not available
Screw online / Call for
pricing and
availability

19 059250-000 #10-32 x 3/8" Phillips Truss Head | 4 EA Not available
Screw online / Call for
pricing and
availability

20 059251-000 Communication Harness Cover 1 EA Not available
online / Call for
pricing and
availability

Tue May 22 14:36:51 UTC 2018 6







[ VIEING ) VBUI5240GSS

Item Part No. Name Qty Uom NOTES

11 059674-000 Complete Display Rack EA Not available
online / Call for
pricing and
availability

12 059675-000 Shelf Frame 1 EA Not available
online / Call for
pricing and
availability

13 059676-000 Roller Slide, Left, Inner 1 EA Not available
online / Call for
pricing and
availability

14 059677-000 Roller Slide, Right, Inner 1 EA Not available
online / Call for
pricing and
availability

15 059678-000 Shelf Mat 1 EA Not available
online / Call for
pricing and
availability

16 059313-000 Wood Shelf Front 1 EA Not available
online / Call for
pricing and
availability

17 059679-000 Plug Button 2 EA Not available
online / Call for
pricing and
availability

18 059265-000 3/16" Steel Pop Rivet 4 EA Not available
online / Call for
pricing and
availability

19 059317-000 #6 Type AB Screw 3 EA Not available
online / Call for
pricing and
availability

Tue May 22 14:36:51 UTC 2018 7




| VIKING] VBUI5240GSS
EIGHT BOTTLE SHELVING PARTS

Tue May 22 14:36:52 UTC 2018 8



VBUI5240GSS

Item Part No.

Name

Qty

Uom

NOTES

1 059351-000

N

059320-000

w

059321-000

N

059341-000

5 059336-000

6 059313-000

7 059317-000

Complete Shelf Assembly (items

2 through 7)

Shelf Frame Assembly

Shelf Tray Assembly

Shelf Mat

Shelf Glass

Wood Shelf Front

#6 Type AB Screw

EA

EA

EA

EA

EA

EA

EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:52 UTC 2018




[ VIKGNG VBUI5240GSS
COIL COVER

=== == === = -]
v . ’
£

Tue May 22 14:36:52 UTC 2018 9



[ ViriNG ] VBUI5240GSS

Item Part No. Name Qty Uom NOTES

11 059323-000 Evaporator Cover, Black, 24", 1 EA Not available
with trim online / Call for
pricing and
availability

12 059331-000 Evaporator Fan Motor 1 EA Not available
online / Call for
pricing and
availability

13 059338-000 Evaporator Fan Guard 2 EA Not available
online / Call for
pricing and
availability

14 059325-000 Plug Button, Black 1 EA Not available
online / Call for
pricing and
availability

15 059332-000 Shelf Ladder, Side, Black 1 EA Not available
online / Call for
pricing and
availability

16 059346-000 Shelf Ladder, Hinge Side, Black 1 EA Not available
online / Call for
pricing and
availability

17 059243-000 #10-24 x 3/8" Phillips Head Screw | 8 EA Not available
online / Call for
pricing and
availability

18 059355-000 #8 x 1/2" Quadrex Pan Head 6 EA Not available
Screw, Black online / Call for
pricing and
availability

Tue May 22 14:36:52 UTC 2018 9




[ VIiiNG | VBUI5240GSS
CONDENSER FAN PARTS

Tue May 22 14:36:52 UTC 2018 10



=N VBUI5240GSS

Item Part No. Name Qty Uom NOTES

1 059260-000 Fan Motor 1 EA Not available
online / Call for
pricing and
availability

059261-000 Fan Shroud 1 EA Not available
online / Call for
pricing and
availability

N

w

059262-000 Fan Mounting Bracket 1 EA Not available
online / Call for
pricing and
availability

059263-000 Fan Blade 1 EA Not available
online / Call for
pricing and
availability

5 059264-000 Foam Pad 1 EA Not available
online / Call for
pricing and
availability

N

6 022354-000 Heyco Bushing 1 EA

7 059265-000 3/16" Steel Pop Rivet 3 EA Not available
online / Call for
pricing and
availability

8 022880-000 #8-32 x 3/8" Screw 3 EA

Tue May 22 14:36:52 UTC 2018 10




)
N
O]
o
=
N
©
-]
2]
>

CONDENSER PARTS

R

11

Tue May 22 14:36:53 UTC 2018



VBUI5240GSS

Item Part No.

Name

Qty

Uom

NOTES

1 059255-000

N

059256-000

w

059257-000

N

059258-000

5 059259-000

6 022381-000
7 022365-000

Tube and Wire Condenser

Dryer

Condenser Mounting Bracket

#8 x 3/4" Flat head Type AB

Screw

Flat Washer, 7/32" ID, 1" OD

#10-24 Hex Nut
#10-24 x 1/2" Carriage Bolt

EA

EA

EA

EA

EA

EA
EA

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Not available
online / Call for
pricing and
availability

Tue May 22 14:36:53 UTC 2018

11




VBUI5240GSS

(ViaNG |

COMPRESSOR PARTS

12

Tue May 22 14:36:53 UTC 2018



[ VIEING ) VBUI5240GSS

Item Part No. Name Qty Uom NOTES

1 059266-000 Compressor 1 EA Not available
online / Call for
pricing and
availability

N

059267-000 Electrical Package 1 EA Not available
online / Call for
pricing and
availability

w

059268-000 Run Capacitor 1 EA Not available
online / Call for
pricing and
availability

059269-000 Bail Strap 1 EA Not available
online / Call for
pricing and
availability

N

5 059270-000 Drain Defrost Pan 1 EA Not available
online / Call for
pricing and
availability

6 022395-000 1/4-20 Hex Lock Nut 3 EA
7 022388-000 Flat Washer 3 EA

8 022943-000 Grommet 4 EA Not available
online / Call for
pricing and
availability

9 022944-000 Sleeve 3 EA Not available
online / Call for
pricing and
availability

10 022815-000 1/4-20 x 1-1/4" Carriage Bolt 3 EA

11 PW300137 Ground Wire 1 EA Not available
online / Call for
pricing and
availability

12 022880-000 #8-32 x 3/8" Screw 2 EA

Tue May 22 14:36:53 UTC 2018 12




VBUI5240GSS

MAIN PC BOARD

13

Tue May 22 14:36:53 UTC 2018



VBUI5240GSS

Item Part No. Name Qty Uom NOTES

1 059252-000 Mounting Bracket, PC Board 1 EA Not available
online / Call for
pricing and
availability

2 028538-000 Control Standoff 8 EA

3 059680-000 Main Board Assembly 1 EA Not available
online / Call for
pricing and
availability

4 022497-000 #10- X 1/2" Hex Head Screw 2 EA

5 059254-000 Heyco Split Bushing 2 EA Not available
online / Call for
pricing and
availability

Tue May 22 14:36:53 UTC 2018 13




| VNG

Appendix A:Pages Index

CABINET PARTS ... ... i, 1
COILCOVER ... .. 9
COMPRESSORPARTS ....................... 12
CONDENSER FANPARTS .................... 10
CONDENSERPARTS .................ccoo... 11
DOORHINGEPARTS ......................... 2
EIGHT BOTTLE SHELVING PARTS ............. 8
FIVE BOTTLE SHELVING PARTS ............... 7
LHGLASSDOOR ....... ... ... 5
LH MECHANICAL PARTS ... ... ................. 3
MAINPCBOARD ............ ... .. ..., 13
RHGLASSDOOR ... ... ... . ... . ... 6
RH MECHANICAL PARTS ...................... 4

Tue May 22 14:36:53 UTC 2018

VBUI5240GSS

A-1



=

Appendix B:Parts Index

022354-000 ....... ... 10
022365-000 ........ ... 11
022374-000 ........ ... 3,4
022380-000 ........ ... .. 3,4
022381-000 ........ ... .. 11
022388-000 ............ .. 12
022395-000 ........ ... 12
022403-000 ............ . 1
022445-000 ........ ... 1
022446-000 ..... ... ... .. 1
022494-000 ........ ... .. 1
022497-000 ... ... ... 13
022815-000 ........ ... ... 12
022880-000 ............. ..l 10, 12
022883-000 .............. .. 3,4
022922-000 ........ ... .. 1
022943-000 ....... .. ... 12
022944-000 ..... ... ... 12
028362-000 ............... .. 56
028538-000 ........ ... ... 13
059229-000 .......... ... 2,6
059230-000 ........ ... ... 2,6
059231-000 ....... ... ... ... 2,5
059232-000 ........ ... 2,5
059233-000 ........ . ... 2,5
059234-000 ........ ... .. 6
059235-000 ....... .. ... 6
059236-000 ........ ... ... 6
059237-000 ....... ... ... 6
059238-000 ........ ... ... 56
059239-000 ............. ... 56
059240-000 ............ ... 56
059241-000 ....... . ... ... 56
059243-000 ..... ... ... .. 9
059244-000 ....... ... 56
059245-000 ........ ... 56
059246-000 ........ ... 56
059247-000 ... ... ... ... 56
059248-000 ............... .. 56
059249-000 ........ ... ... 56

Tue May 22 14:36:53 UTC 2018

VBUI5240GSS
059250-000 ........ ... 1,6
059251-000 ... ... ... ... 1,5,6
059252-000 ... ... 13
059254-000 ... ... ... 13
059255-000 . ... ... 11
059256-000 ...... ... .. 11
059257-000 ... ... 11
059258-000 . ... ... ... 11
059259-000 ... .. ... 11
059260-000 ...... ... .. 10
059261-000 ... ... . . 10
059262-000 ...... ... .. .. 10
059263-000 ....... ... .. 10
059264-000 ..... ... ... 10
059265-000 ........ ... ... 7,10
059266-000 ...... ... ... ... 12
059267-000 . ....... ... .. 12
059268-000 ....... ... .. ... 12
059269-000 ........ ... . .. 12
059270-000 ... ... .. 12
059271-000 ... .. ... 3,4
059272-000 . ... ... .. ... 3,4
059273-000 ... ... ... 3,4
059274-000 . ... ... .. ... 3,4
059275-000 ... .. ... 3,4
059276-000 ..... ... ... 3,4
059306-000 ........ ... .. 5
059307-000 . ... ... ... 5
059308-000 .......... .. 1,5
059309-000 ... ... 1,5
059313-000 ... .. ... 7,8
059315-000 ... ... 3,4
059316-000 ........ ... .. 3,4
059317-000 . ... ... .. 7,8
059318-000 ... ... 1
059319-000 ... ... ... 1
059320-000 ........ ... 8
059321-000 . ... ... ... 8
059322-000 ........ ... 1
059323-000 . ... ... ... 9
059325-000 ... ... 9
B-1



VNG

059326-000 .......... ... ... 1
059330-000 ........ ... .. 1
059331-000 ....... ... .. 9
059332-000 ........ ... 9
059336-000 .......... ... .. 8
059337-000 ........ ... .. 1
059338-000 ........ ... .. 9
059339-000 ........ . ... 1
059341-000 ..... .. ... .. 8
059342-000 ........ . ... 3
059343-000 ............ .. 4
059344-000 ....... .. ... 1
059345-000 ..... ... ... 3
059346-000 ........ ... ... 9
059347-000 ..... ... ... .. 1
059349-000 ....... .. ... 1
059350-000 ........ ... ... 1
059351-000 ....... .. ... 8
059355-000 ........ ... ... 1,9
059674-000 ........ .. ... 7
059675-000 ..... ... ... ... 7
059676-000 ........ ... ... ... 7
059677-000 ... ... ... .. 7
059678-000 ........ . ... ... 7
059679-000 ........ ... .. ... 7
059680-000 ......... ... ... ... 13
PS100035 ....... ... ... 56
PW300137 .. ... 12

Tue May 22 14:36:53 UTC 2018

VBUI5240GSS

B-2



